

Moment Problems with Functions in Some Köthe Spaces

D. LEVIATAN

Department of Mathematics, University of Illinois, Urbana, Illinois 61801

Submitted by R. P. Boas

1. INTRODUCTION

Let C be a family of nonnegative integrable functions in $[0, 1]$ such that C has the following properties.

- (a) $1 \in C$;
- (b) if $c(x) \in C$ and for a measurable function $c_1(x)$, $0 \leq c_1(x) \leq c(x)$ a.e. in $[0, 1]$, then $c_1(x) \in C$;
- (c) the integrals $\int_0^1 c(x) dx$, $c(x) \in C$ are uniformly bounded.

Define the Köthe space $X(C)$ as the space of all functions $f(x)$ integrable in $[0, 1]$ and such that

$$\|f\| = \sup_{c \in C} \int_0^1 c(x) |f(x)| dx < \infty.$$

With $\|f\|$ as the norm of f , it was proved by Lorentz ([7], p. 67), who had introduced the space, that $X(C)$ is a complete normed space. For C the family of nonnegative integrable functions $g(x)$ in $[0, 1]$ satisfying $\int_0^1 [g(x)]^q dx \leq 1$, where $1 \leq q < \infty$, the space $X(C)$ is $L^p[0, 1]$ where $1/p + 1/q = 1$. For C the family of nonnegative measurable functions $g(x)$ which are essentially bounded in $[0, 1]$, the space $X(C)$ is $L^1[0, 1]$. For additional examples see Lorentz ([7], Section 3.5).

Let the sequence $\{\lambda_i\}$ ($i \geq 0$) satisfy the following

$$0 \leq \lambda_0 < \lambda_1 < \dots < \lambda_n < \dots \uparrow \infty, \quad \sum_{i=1}^{\infty} \frac{1}{\lambda_i} = \infty. \quad (1.1)$$

It is our purpose in this article to obtain necessary and sufficient conditions on a sequence $\{\mu_n\}$ ($n \geq 0$) so that it should possess the representation

$$\mu_n = \int_0^1 t^{\lambda_n} f(t) dt \quad n = 0, 1, 2, \dots, \quad (1.2)$$

where $f \in X(C)$.

For the sequence $\lambda_n = n, n = 0, 1, 2, \dots$, necessary and sufficient conditions on $\{\mu_n\}$ ($n \geq 0$) were given by Lorentz ([7], Section 3.8). The problem was discussed recently by Ramanujan [8] for the sequence $\lambda_n = n + 1, n = 0, 1, 2, \dots$ and by Jakimovski and Ramanujan [3] for the sequence $\lambda_n = n + \alpha, n = 0, 1, 2, \dots$, where $\alpha \geq 0$.

2. PRELIMINARIES AND AUXILIARY LEMMAS

Denote

$$\lambda_{nm}(t) = (-1)^{n-m} \lambda_{m+1} \times \dots \times \lambda_n \sum_{i=m}^n \frac{t^{\lambda_i}}{\omega'_{nm}(\lambda_i)}, \quad 0 \leq m < n = 1, 2, \dots, \tag{2.1}$$

$$\lambda_{nn}(t) = t^{\lambda_n} \quad n = 0, 1, 2, \dots,$$

where

$$\omega_{nm}(x) = (x - \lambda_m) \times \dots \times (x - \lambda_n), \quad 0 \leq m \leq n = 0, 1, 2, \dots, \tag{2.2}$$

and denote

$$\lambda_{nm}^*(t) = \frac{\lambda_m}{\lambda_n} \lambda_{nm}(t), \quad 0 \leq m < n = 1, 2, \dots \tag{2.3}$$

$$\lambda_{nn}^*(t) = t^{\lambda_n} \quad n = 0, 1, 2, \dots .$$

By [7], p. 46 (10),

$$\lambda_{nm}(t) \geq 0 \quad \text{for} \quad 0 \leq t \leq 1 \quad \text{and} \quad 0 \leq m \leq n = 0, 1, 2, \dots . \tag{2.4}$$

If $\lambda_0 = 0$, it follows by [7], p. 46 (11) that

$$\sum_{m=0}^n \lambda_{nm}(t) = 1 \quad \text{for} \quad 0 \leq t \leq 1 \quad \text{and} \quad n = 0, 1, 2, \dots \tag{2.5}$$

and so by (2.4) and (2.5) it follows that for $\lambda_0 > 0$,

$$\sum_{m=0}^n \lambda_{nm}(t) \leq 1 \quad \text{for} \quad 0 \leq t \leq 1 \quad \text{and} \quad n = 0, 1, 2, \dots . \tag{2.6}$$

Also by [2], Theorem 2.3,

$$\sum_{n=m}^{\infty} \lambda_{nm}^*(t) = 1 \quad \text{for} \quad 0 < t \leq 1, \tag{2.7}$$

$$\sum_{n=m}^{\infty} \lambda_{n,m}^*(0) = 0 \quad \text{for} \quad m \geq 1.$$

Let $\alpha_{nm} = [(1 - \lambda_1/\lambda_{m+1}) \cdots (1 - \lambda_1/\lambda_n)]^{1/\lambda_1}$, $0 \leq m < n = 1, 2, \dots$, $\alpha_{nn} = 1$ and let $\beta_{nm} = \alpha_{n-1, m-1}$ $1 \leq m \leq n = 1, 2, \dots$. Then if $\lambda_0 = 0$, it follows by [7], Theorem 2.2.2 that for every continuous function $f(x)$ in $[0, 1]$

$$\lim_{n \rightarrow \infty} \sum_{m=0}^n \lambda_{nm}(x) f(\alpha_{nm}) = f(x) \quad \text{uniformly in } 0 \leq x \leq 1. \quad (2.8)$$

Only a slight modification is needed to show that if $\lambda_0 > 0$ then for every continuous function $f(x)$ in $[0, 1]$

$$\lim_{n \rightarrow \infty} \sum_{m=0}^n \lambda_{nm}(x) f(\alpha_{nm}) = f(x) \quad \text{for } 0 < x \leq 1. \quad (2.9)$$

Again by [2], Theorem 2.3, it follows that for every continuous function $f(x)$ in $[0, 1]$,

$$\lim_{m \rightarrow \infty} \sum_{n=m}^{\infty} \lambda_{nm}^*(x) f(\beta_{nm}) = f(x) \quad \text{for } 0 < x \leq 1. \quad (2.10)$$

We make use of the following lemmas.

LEMMA 1. For every $n, m, 0 \leq m < n = 1, 2, \dots$,

$$\int_0^1 \lambda_{nm}(t) dt = \frac{\lambda_{m+1} \times \cdots \times \lambda_n}{(\lambda_m + 1) \times \cdots \times (\lambda_n + 1)}$$

and

$$\int_0^1 \lambda_{nm}(t) dt = \frac{1}{\lambda_n + 1}, \quad n = 0, 1, 2, \dots$$

Proof. The proof follows readily by induction on $n - m$ using the equality

$$\lambda_{nm}(t) = \frac{\lambda_n \lambda_{n-1, m}(t) - \lambda_{m+1} \lambda_{n, m+1}(t)}{\lambda_n - \lambda_m}, \quad 0 \leq t \leq 1, \quad n > m.$$

(See [7], Section 2.7 (1), (8).) This completes our proof.

LEMMA 2. Let

$$\chi_{nm} = \frac{\lambda_{m+1} \times \cdots \times \lambda_n}{(\lambda_{m+1} + 1) \times \cdots \times (\lambda_n + 1)}$$

and let $n(p), m(p)$ be functions assuming integral values only. Then $n(p) \rightarrow \infty$ and $\chi_{n(p), m(p)} \rightarrow x > 0$ as $p \rightarrow \infty$ imply $\alpha_{n(p), m(p)} \rightarrow x$.

Proof. For $-1 < x < 1$, $\log 1 - x = -x - (x^2/2)(1 - \theta x)^{-2}$ where $\theta = \theta(x)$, $0 < \theta < 1$. Hence,

$$\begin{aligned} \chi_{nm}^{-1} &= \left(1 + \frac{1}{\lambda_{m+1}}\right) \times \cdots \times \left(1 + \frac{1}{\lambda_n}\right) \\ &= \exp \left[\sum_{k=m+1}^n \lambda_k^{-1} \right] \exp \left[-\frac{1}{2} \sum_{k=m+1}^n \lambda_k^{-2} (1 + \theta_k \lambda_k^{-1})^{-2} \right] \end{aligned}$$

and

$$\begin{aligned} \alpha_{nm} &= \left[\left(1 - \frac{\lambda_1}{\lambda_{m+1}}\right) \times \cdots \times \left(1 - \frac{\lambda_1}{\lambda_n}\right) \right]^{1/\lambda_1} \\ &= \exp \left[-\sum_{k=m+1}^n \lambda_k^{-1} \right] \exp \left[-\frac{1}{2} \lambda_1 \sum_{k=m+1}^n \lambda_k^{-2} (1 - \theta_k^* \lambda_1 \lambda_k^{-1})^{-2} \right], \end{aligned}$$

where $0 < \theta_k, \theta_k^* < 1$. Thus,

$$\alpha_{nm} \chi_{nm}^{-1} = \exp \left[-\frac{1}{2} \lambda_1 \sum_{k=m+1}^n \lambda_k^{-2} (1 - \theta_k^* \lambda_1 \lambda_k^{-1})^{-2} - \frac{1}{2} \sum_{k=m+1}^n \lambda_k^{-2} (1 + \theta_k \lambda_k^{-1})^{-2} \right]. \tag{2.11}$$

Now,

$$0 < \chi_{nm} \leq \exp \left[-\sum_{k=m+1}^n (\lambda_k + 1)^{-1} \right] \quad \text{and} \quad \chi_{nm} \rightarrow x > 0,$$

consequently $\sum_{k=m+1}^n (\lambda_k + 1)^{-1}$ remains bounded as $p \rightarrow \infty$, whence $\sum_{k=m+1}^n \lambda_k^{-1}$ remains bounded as $p \rightarrow \infty$. Since $\sum_{k=1}^{\infty} \lambda_k^{-1} = \infty$, it follows that $m(p) \rightarrow \infty$ and so $\lambda_{m(p)+1} \rightarrow \infty$. Therefore,

$$0 \leq \sum_{k=m+1}^n \lambda_k^{-2} (1 + \theta_k \lambda_k^{-1})^{-2} \leq \lambda_{m+1}^{-1} \sum_{k=m+1}^n \lambda_k^{-1} \rightarrow 0, \quad \text{as} \quad p \rightarrow \infty,$$

and

$$0 \leq \sum_{k=m+1}^n \lambda_k^{-2} (1 - \theta_k^* \lambda_1 \lambda_k^{-1})^{-2} \leq (1 - \lambda_1 \lambda_2^{-1})^{-2} \lambda_{m+1}^{-1} \sum_{k=m+1}^n \lambda_k^{-1} \rightarrow 0, \quad \text{as} \quad p \rightarrow \infty.$$

By (2.11) it follows now that

$$\lim_{n \rightarrow \infty} \alpha_{n(p), m(p)} \chi_{n(p), m(p)}^{-1} = 1,$$

and so our proof is complete.

The following lemma, the proof of which is left for the reader, is an extension of [7], p. 79, Theorem 3.8.2, and Remark 1.

LEMMA 3. Let $f_n(x)$ be integrable functions in $[0, 1]$ and suppose that the set functions $F_n(e) = \int_e f_n(x) dx, e \subseteq [0, 1], e$ is measurable are uniformly absolutely continuous. Then there is a subsequence $f_{n_k}(x)$ and an integrable function $f(x)$ such that for every uniformly bounded sequence of integrable functions $g_k(x)$ tending almost everywhere to $g(x)$,

$$\int_0^1 f_{n_k}(x) g_k(x) dx \rightarrow \int_0^1 f(x) g(x) dx, \quad \text{as } k \rightarrow \infty.$$

3. THE MOMENT PROBLEM IN $X(C)$

For a sequence $\{\mu_n\} (n \geq 0)$, let

$$\lambda_{nm} = (-1)^{n-m} \lambda_{m+1} \times \dots \times \lambda_n \sum_{i=m}^n \frac{\mu_i}{\omega'_{nm}(\lambda_i)}, \quad 0 \leq m < n = 1, 2, \dots \tag{3.1}$$

$$\lambda_{nn} = \mu_n, \quad n = 0, 1, 2, \dots,$$

where $\omega_{nm}(x)$ is defined by (2.2); and let

$$\begin{aligned} \lambda_{nm}^* &= \frac{\lambda_m}{\lambda_n} \lambda_{nm}, \quad 0 \leq m < n = 1, 2, \dots, \\ \lambda_{nn}^* &= \mu_n, \quad n = 0, 1, 2, \dots. \end{aligned} \tag{3.2}$$

Denote

$$A_{nm} = \sum_{k=0}^m \int_0^1 \lambda_{nk}(t) dt, \quad 0 \leq m \leq n = 0, 1, 2, \dots,$$

and

$$A_{nm}^* = \sum_{k=n}^{\infty} \int_0^1 \lambda_{km}^*(t) dt, \quad n \geq m = 0, 1, 2, \dots.$$

Define the functions $f_n(x)$ by

$$\begin{aligned} f_n(x) &= \frac{\lambda_{nm}}{\int_0^1 \lambda_{nm}(t) dt} \quad \text{if } A_{n,m-1} \leq x < A_{nm}, \quad (A_{n,-1} = 0), \\ f_n(x) &= 0 \quad \text{elsewhere;} \end{aligned} \tag{3.3}$$

and the functions $f_m^*(x)$ by

$$f_m^*(x) = \frac{\lambda_{nm}^*}{\int_0^1 \lambda_{nm}^*(t) dt} \quad \text{if } A_{n+1,m}^* < x \leq A_{n,m}^*, \quad f_m^*(0) = 0. \tag{3.4}$$

THEOREM 1. *Let $X(C)$ have a rearrangement-invariant norm (see [7], Section 3.4) and let the set functions $F(e) = \int_e f(x) dx$ $f \in X(C)$, $\|f\| \leq 1$ be uniformly absolutely continuous. Then the sequence $\{\mu_n\}$ ($n \geq 0$) possesses the representation (1.2) where $f \in X(C)$, $\|f\| \leq M$, if, and only if, $\|f_n\| \leq M$ for all $n \geq 0$.*

For $\lambda_n = n$ $n \geq 0$, Theorem 1 reduces to [7], Theorem 3.8.4, and for $\lambda_n = n + \alpha$, $n \geq 0$ it reduces to [3], Theorem 4.

Proof. It follows by (1.2), (2.1), and (3.1) that

$$\lambda_{nm} = \int_0^1 \lambda_{nm}(t) f(t) dt \quad 0 \leq m \leq n = 0, 1, 2, \dots$$

Thus, if the kernels $K_n(x, t)$ are defined by

$$K_n(x, t) = \frac{\lambda_{nm}(t)}{\int_0^1 \lambda_{nm}(t) dt} \quad \text{if} \quad A_{n,m-1} \leq x < A_{nm}, \quad 0 \leq t \leq 1$$

and

$$K_n(x, t) = 0 \quad \text{elsewhere,}$$

then by (3.3)

$$f_n(x) = \int_0^1 K_n(x, t) f(t) dt, \quad 0 \leq x \leq 1, \quad n = 0, 1, 2, \dots \quad (3.5)$$

Now,

$$\int_0^1 |K_n(x, t)| dt = \frac{\int_0^1 \lambda_{nm}(t) dt}{\int_0^1 \lambda_{nm}(t) dt} = 1 \quad \text{for} \quad A_{n,m-1} \leq x < A_{nm}$$

and

$$\int_0^1 |K_n(x, t)| dt = 0 \quad \text{elsewhere,}$$

hence,

$$\int_0^1 |K_n(x, t)| dt \leq 1 \quad \text{for} \quad 0 \leq x \leq 1. \quad (3.6)$$

By (2.5) and (2.6)

$$\int_0^1 |K_n(x, t)| dx = \sum_{m=0}^n \lambda_{nm}(t) \leq 1 \quad \text{for} \quad 0 \leq t \leq 1. \quad (3.7)$$

Since $X(C)$ has a rearrangement-invariant norm, it follows by (1.2) where $f \in X(C)$, $\|f\| \leq M$, (3.5), (3.6), (3.7), and [7], Theorem 3.8.3, that $\|f_n\| \leq M$ for all $n \geq 0$. This completes the proof of the necessary part of the theorem.

Conversely, if $\|f_n\| \leq M$ for all $n \geq 0$, then since $1 \in C$ we have

$$\sum_{m=0}^n |\lambda_{nm}| = \int_0^1 |f_n(x)| dx \leq \|f_n\| \leq M, \quad \text{for all } n \geq 0.$$

Therefore, by [4], Theorem 2.1, $\{\mu_n\}$ ($n \geq 0$) possesses the representation

$$\mu_n = \int_0^1 t^{\lambda_n} d\alpha(t) \quad n = 0, 1, 2, \dots, \quad (3.8)$$

where $\alpha(t)$ is of bounded variation in $[0, 1]$.

By (2.5), (2.6), (2.8), and (2.9) it follows that for any $k \geq 0$

$$\begin{aligned} \lim_{n \rightarrow \infty} \sum_{m=0}^n \lambda_{nm} \alpha_{nm}^{\lambda_k} &= \lim_{n \rightarrow \infty} \int_0^1 \sum_{m=0}^n \lambda_{nm}(t) \alpha_{nm}^{\lambda_k} d\alpha(t) \\ &= \int_0^1 t^{\lambda_k} d\alpha(t) = \mu_k. \end{aligned} \quad (3.9)$$

Let the function $g_n^{(k)}(x)$ be defined by

$$\begin{aligned} g_n^{(k)}(x) &= \alpha_{nm}^{\lambda_k} \quad \text{for } A_{n,m-1} \leq x < A_{nm}, \\ g_n^{(k)}(x) &= 0 \quad \text{elsewhere.} \end{aligned}$$

We will prove that

$$g_n^{(k)}(x) \rightarrow x^{\lambda_k} \quad \text{as } n \rightarrow \infty \quad \text{for } 0 \leq x < 1. \quad (3.10)$$

Now, for $x = 0$, (3.10) follows immediately since $\alpha_{n1} \rightarrow 0$ as $n \rightarrow \infty$. Assume that $0 < x < 1$ and let $m \equiv m(n)$, such that $A_{n,m-1} \leq x < A_{nm}$. For every fixed $k \geq 0$, it follows by Hausdorff ([1], Section 2 and (25)) that $\lim_{n \rightarrow \infty} \int_0^1 \lambda_{nk}(t) dt = 0$, whence $m(n) \rightarrow \infty$, as $n \rightarrow \infty$. Consequently, by Lemma 1,

$$\begin{aligned} 0 \leq A_{nm} - A_{n,m-1} &= \int_0^1 \lambda_{nm}(t) dt \\ &= \frac{\lambda_{m+1} \times \cdots \times \lambda_n}{(\lambda_m + 1) \times \cdots \times (\lambda_n + 1)} \\ &\leq \frac{1}{\lambda_m} \rightarrow 0, \quad \text{as } n \rightarrow \infty. \end{aligned}$$

Thus, $A_{n,m(n)} \rightarrow x$ as $n \rightarrow \infty$.

Again by Lemma 1,

$$\begin{aligned}
 A_{nm} &= \sum_{k=0}^m \int_0^1 \lambda_{nk}(t) dt \\
 &= \sum_{k=0}^m \frac{\lambda_{k+1} \times \cdots \times \lambda_n}{(\lambda_k + 1) \times \cdots \times (\lambda_n + 1)} \\
 &= \frac{\lambda_{m+1} \times \cdots \times \lambda_n}{(\lambda_{m+1} + 1) \times \cdots \times (\lambda_n + 1)} \sum_{k=0}^m \frac{\lambda_{k+1} \times \cdots \times \lambda_m}{(\lambda_k + 1) \times \cdots \times (\lambda_m + 1)} \\
 &= \chi_{nm} \sum_{k=0}^m \int_0^1 \lambda_{mk}(t) dt.
 \end{aligned}$$

(χ_{nm} is defined as in Lemma 2.)

By (2.5) or (2.6) and (2.9), for $f(t) = 1$, we have

$$\lim_{m \rightarrow \infty} \sum_{k=0}^m \int_0^1 \lambda_{mk}(t) dt = 1.$$

Hence, $\chi_{n,m(n)} \rightarrow x$ as $n \rightarrow \infty$. So by Lemma 2, $\alpha_{n,m(n)} \rightarrow x$ and, thus, $\alpha_{n,m(n)}^{\lambda_k} \rightarrow x^{\lambda_k}$ as $n \rightarrow \infty$. This concludes the proof of (3.10).

Rewriting (3.9) we obtain

$$\mu_k = \lim_{n \rightarrow \infty} \int_0^1 f_n(x) g_n^{(k)}(x) dx, \quad k = 0, 1, 2, \dots \quad (3.11)$$

By (3.10) and Lemma 3, there is a subsequence $f_{n_i}(x)$ and a function $f(x)$ such that

$$\int_0^1 f_{n_i}(x) g_{n_i}^{(k)}(x) dx \rightarrow \int_0^1 f(x) x^{\lambda_k} dx, \quad \text{as } i \rightarrow \infty,$$

whence by (3.11)

$$\mu_k = \int_0^1 x^{\lambda_k} f(x) dx, \quad k = 0, 1, 2, \dots$$

That $f \in X(C)$ and $\|f\| \leq M$ follows by [7], p. 80, Remark 2. This completes our proof.

COROLLARY 1. *The space $L^p[0, 1]$, $1 < p \leq \infty$, satisfies the assumptions of Theorem 1, hence the sequence $\{\mu_n\}$ ($n \geq 0$) possesses the representation (1.2) where $f \in L^p[0, 1]$, $1 < p \leq \infty$, $\|f\|_p \leq M$, if, and only if,*

$$\sum_{m=0}^n \frac{|\lambda_{nm}|^p}{\left(\int_0^1 \lambda_{nm}(t) dt\right)^{p-1}} \leq M, \quad \text{for all } n \geq 0, \quad \text{if } 1 < p < \infty$$

and

$$\frac{|\lambda_{nm}|}{\int_0^1 \lambda_{nm}(t) dt} \leq M, \quad \text{for all } n, m, 0 \leq m \leq n, \quad \text{if } p = \infty.$$

Corollary 1 can also be obtained by results in [4, 5].

Interpreting Theorem 1 for Lorentz's spaces $\Lambda(\phi, p)$ and $M(\phi, p)$, $1 < p < \infty$, is left for the reader. (For $\lambda_n = n, n \geq 0$, see such interpretation in [7], p. 81.

THEOREM 2. *Let $X(C)$ satisfy the assumptions of Theorem 1. Then the sequence $\{\mu_n\} (n \geq 0)$ possesses the representation (1.2) for $n \geq 1$, where $f \in X(C)$, $\|f\| \leq M$, if, and only if, $\|f_m^*\| \leq M$ for all $m \geq 1$.*

Remark. If $\lambda_0 > 0$, then Theorem 2 can be stated with $n \geq 0, m \geq 0$. This is not the case, however, if $\lambda_0 = 0$, in which case μ_0 may or may not have the same representation even if $\|f_m^*\| \leq M$ for all $m \geq 0$.

Theorem 2 for the sequence $\lambda_n = n + 1, n \geq 0$, is due to Ramanujan [8]; it is due to Jakimovski and Ramanujan [3] for $\lambda_n = n + \alpha + 1, n \geq 0$.

Proof. The proof of the necessity part is similar to the proof of that part in Theorem 1, using (2.3), (3.2), and (2.7) instead of (2.1), (3.1), and (2.5) and (2.6), respectively. The kernels that are used in this proof are the following:

$$K_m^*(x, t) = \frac{\lambda_{nm}^*(t)}{\int_0^1 \lambda_{nm}^*(t) dt} \quad \text{if } A_{n+1,m}^* < x \leq A_{nm}^*, \quad 0 \leq t \leq 1$$

and

$$K_m^*(0, t) = 0, \quad 0 \leq t \leq 1.$$

In order to prove the sufficiency part, we see that since $1 \in C$ it follows that

$$\sum_{n=m}^{\infty} |\lambda_{nm}^*| = \int_0^1 |f_m^*(x)| dx \leq \|f_m^*\| \leq M, \quad \text{for all } m \geq 1.$$

Therefore, by [6], Theorem 3.1, $\{\mu_n\} (n \geq 1)$ has the representation (3.8).

By (2.7) and (2.9) it follows that for every $k \geq 1$,

$$\begin{aligned} \lim_{m \rightarrow \infty} \sum_{n=m}^{\infty} \lambda_{nm}^* \beta_{nm}^{\lambda_k} &= \lim_{m \rightarrow \infty} \int_0^1 \sum_{n=m}^{\infty} \lambda_{nm}^*(t) \beta_{nm}^{\lambda_k} d\alpha(t) \\ &= \int_0^1 t^{\lambda_k} d\alpha(t) = \mu_k. \end{aligned} \tag{3.12}$$

Define the functions $h_m^{(k)}(x)$ by

$$h_m^{(k)}(x) = \beta_{nm}^{\lambda_k} \quad \text{for} \quad A_{n+1,m}^* < x \leq A_{nm}^*, \quad h_m^{(k)}(0) = 0.$$

We will prove that for $k \geq 1$,

$$h_m^{(k)}(x) \rightarrow x^{\lambda_k}, \quad \text{as} \quad m \rightarrow \infty \quad \text{for} \quad 0 \leq x \leq 1. \quad (3.13)$$

Then the rest of the proof will follow as in the proof of Theorem 1. For $x = 0$, $h_m^{(k)}(0) = 0 = 0^{\lambda_k}$ for all $k \geq 1$. If $0 < x \leq 1$, let $n \equiv n(m)$ such that $A_{n+1,m}^* < x \leq A_{nm}^*$. By Lemma 1

$$\begin{aligned} 0 \leq A_{nm}^* - A_{n+1,m}^* &= \int_0^1 \lambda_{nm}^*(t) dt \\ &= \frac{\lambda_m \times \cdots \times \lambda_{n-1}}{(\lambda_m + 1) \times \cdots \times (\lambda_n + 1)} \\ &\leq \frac{1}{\lambda_n} \rightarrow 0 \quad \text{as} \quad m \rightarrow \infty. \end{aligned}$$

Thus,

$$A_{n(m),m}^* \rightarrow x \quad \text{as} \quad m \rightarrow \infty.$$

By (2.7) and Lemma 1,

$$\begin{aligned} A_{nm}^* &= \sum_{k=n}^{\infty} \int_0^1 \lambda_{km}^*(t) dt \\ &= \sum_{k=n}^{\infty} \frac{\lambda_m \times \cdots \times \lambda_{k-1}}{(\lambda_m + 1) \times \cdots \times (\lambda_k + 1)} \\ &= \chi_{n-1, m-1} \sum_{k=n}^{\infty} \int_0^1 \lambda_{kn}^*(t) dt \\ &= \chi_{n-1, m-1}. \end{aligned}$$

Hence, $\chi_{n(m)-1, m-1} \rightarrow x$ as $m \rightarrow \infty$ and by Lemma 2, $\beta_{n(m),n} \rightarrow x$ as $m \rightarrow \infty$. This completes the proof.

COROLLARY 2. *The sequence $\{\mu_n\}$ ($n \geq 1$) possesses the representation (1.2) for $n \geq 1$, where $f \in L^p[0, 1]$, $1 < p < \infty$, $\|f\|_p \leq M$, if, and only if,*

$$\sum_{n=m}^{\infty} \frac{|\lambda_{nm}^*|^p}{\left(\int_0^1 \lambda_{nm}^*(t) dt\right)^{p-1}} \leq M \quad \text{for all} \quad m \geq 1.$$

4. THE MOMENT PROBLEM IN $L^1[0, 1]$

As we noted in the introduction, $L^1[0, 1]$ is an $X(C)$ space and it is readily seen to have a rearrangement-invariant norm. However, the set functions $F(e) = \int_e f(x) dx, f \in L^1[0, 1], \|f\| \leq 1$, are not uniformly absolutely continuous, hence, Theorems 1, 2 do not apply here. Moreover, the requirement of uniformly absolute continuity is quite a strong one. Our results involve a weaker condition.

DEFINITION. The functions $\alpha_n(x)$ defined in $[0, 1]$ are said to be eventually absolutely continuous if for every $\epsilon > 0$ there is a $\delta(\epsilon) > 0$ such that if π is a finite union of disjoint intervals in $[0, 1], \pi = \bigcup_{i=1}^k (x_i, y_i)$, say, with $m(\pi) < \delta$, then there exists $N(\epsilon, \pi)$ such that

$$\sum_{i=1}^k |\alpha_n(x_i) - \alpha_n(y_i)| < \epsilon \quad \text{for all } n > N.$$

For a sequence $\{\mu_n\} (n \geq 0)$ let

$$\alpha_n(0) = 0, \quad \alpha_n(x) = \sum_{\alpha_{nm} \leq x} \lambda_{nm}, \quad 0 < x \leq 1,$$

and

$$\alpha_m^*(0) = 0, \quad \alpha_m^*(x) = \sum_{\beta_{nm} \leq x} \lambda_{nm}^*, \quad 0 < x \leq 1.$$

THEOREM 3. The sequence $\{\mu_n\} (n \geq 0)$ possesses the representation (1.2), where $f \in L^1[0, 1]$, if, and only if, the function $\alpha_n(x)$ are of uniformly bounded variations and are eventually absolutely continuous.

Proof. Assume first that $\{\mu_n\} (n \geq 0)$ has the representation (1.2) where $f \in L^1[0, 1]$. Then by (2.4), (2.5), and (2.6),

$$\begin{aligned} \bigvee_0^1 [\alpha_n] &= \sum_{m=0}^n |\lambda_{nm}| \leq \sum_{m=0}^n \int_0^1 \lambda_{nm}(t) |f(t)| dt \\ &= \int_0^1 \sum_{m=0}^n \lambda_{nm}(t) |f(t)| dt \\ &\leq \int_0^1 |f(t)| dt < \infty, \quad \text{for all } n \geq 0. \end{aligned}$$

By (2.8) and (2.9) it is easily seen that for any $0 < x \leq 1$,

$$\sum_{\alpha_{nm} \leq x} \lambda_{nm}(t) \rightarrow \begin{cases} 1 & \text{if } 0 \leq t < x \\ 0 & \text{if } x < t \leq 1 \end{cases} \quad \text{as } n \rightarrow \infty. \quad (4.1)$$

Thus, for $0 < x \leq 1$,

$$\alpha_n(x) = \sum_{\alpha_{nm} \leq x} \lambda_{nm} = \int_0^1 \sum_{\alpha_{nm} \leq x} \lambda_{nm}(t) f(t) dt \rightarrow \int_0^x f(t) dt \quad \text{as } n \rightarrow \infty; \quad (4.2)$$

and for $x = 0$,

$$\alpha_n(0) = 0 = \int_0^0 f(t) dt.$$

Now, $F(x) = \int_0^x f(t) dt$ is an absolutely continuous function and $\alpha_n(x) \rightarrow F(x)$, $0 \leq x \leq 1$, as $n \rightarrow \infty$, whence $\alpha_n(x)$ are eventually absolutely continuous. Conversely, since the functions $\alpha_n(x)$ are of uniformly bounded variations, it follows by [4], Theorem 2.1, that $\{\mu_n\}$ ($n \geq 0$) has the representation (3.8). Also, similar to (3.9), we obtain for each $k \geq 0$,

$$\lim_{n \rightarrow \infty} \int_0^1 t^{\lambda_k} d\alpha_n(t) = \lim_{n \rightarrow \infty} \sum_{m=0}^n \lambda_{nm} \alpha_{nm}^{\lambda_k} = \mu_k. \quad (4.3)$$

Once again, since $\alpha_n(x)$ are of uniformly bounded variations, it follows by Helly's theorem that there is a subsequence $\{\alpha_{n_i}(x)\}$ and a function of bounded variation $\beta(x)$ such that $\alpha_{n_i}(x) \rightarrow \beta(x)$, $0 \leq x \leq 1$, as $i \rightarrow \infty$. Hence, by (4.3) and Helly-Bray's theorem,

$$\mu_k = \int_0^1 t^{\lambda_k} d\beta(t) \quad k = 0, 1, 2, \dots \quad (4.4)$$

Now $\alpha_{n_i}(x)$ are eventually absolutely continuous and $\alpha_{n_i}(x) \rightarrow \beta(x)$, $0 \leq x \leq 1$, whence $\beta(x)$ is absolutely continuous; thus,

$$\beta(x) = \int_0^x f(t) dt, \quad 0 \leq x \leq 1, \quad f \in L^1[0, 1]. \quad (4.5)$$

Our result follows now by (4.4) and (4.5). This completes our proof.

The following result is proved similarly.

THEOREM 4. *The sequence $\{\mu_n\}$ ($n \geq 1$) possesses the representation (1.2), for $n \geq 1$, where $f \in L^1[0, 1]$, if, and only if, the function $\alpha_m^*(x)$ ($m \geq 1$) are of uniformly bounded variations and are eventually absolutely continuous.*

REFERENCES

1. F. HAUSDORFF, Summationsmethoden und Momentenfolgen II, *Math. Z.*, **9** (1921), 280-299.
2. A. JAKIMOVSKI AND D. LEVIATAN, Completeness and approximation operators, *Publ. Ramanujan Institute* **1** (1969), 123-129.

3. A. JAKIMOVSKI AND M. S. RAMANUJAN, A uniform approximation theorem and its application to moment problems, *Math. Z.*, **84** (1964), 143–153.
4. D. LEVIATAN, A generalized moment problem, *Israel J. Math.*, **5** (1967), 97–103.
5. D. LEVIATAN, Some moment problems in a finite interval, *Canad. J. Math.*, **20** (1968), 960–966.
6. D. LEVIATAN, Moment problems and quasi-Hausdorff transformations, *Canad. Math. Bull.*, **11** (1968), 225–236.
7. G. G. LORENTZ, “Bernstein Polynomials,” Toronto Univ. Press, 1953.
8. M. S. RAMANUJAN, The moment problem in certain function space of G. G. Lorentz, *Arch. Math.*, **15** (1964), 71–75.